A4
A/ S .
@) T 0
2320
52 1103 10 1103 52
0 6
k. (ﬁasf
® 1
c
ol O
p g \%
P a 44
ﬁ% \ \\.', \\‘ E.
7 I i7
V] 66, 6 o . o &
’ o
0350 BN (1720

AR08
) BROREIASETETS,

NERFFA (1710

BRER: v )y y-5d. BRFRERVES,
Ny s-8 (T-V8) LG (LH) yV-XzTBALETO,
(Ny 7€y b 64mm. EES0mm)
EROIBAE. BRI -V VY I-%#ZBAEETO,

BB (178

m g | o< UIRPE
54 7T | yUvy-5EAELG (LH)
& % | H1000

& 2520 (B

KFTHO2016% 2

]

415

®

®

R3908s

®EE

118

™~

I~

O&FAN (1/8)

kS iRV B # (mm) it g i z
1 BAE 050x50xt3.2 STKR400 HENBRER (TEHY- &)
2 Ali%ey T t1.6 SGH HENRER (FhiEfin- &)
3 FEMR (RAD 50x 120 AB063S BRBILELKE
4 PRSI (GAD 50x 120 AB063S BRELEARE
5 FEME (24D 50x 120 AB063S BRBILEAKE
6 sl 14 25% 60 AB063S BRBLEAKE
7 HML AN t3.0 7V IRERBEAR -
8 v - F - IJAN- -
9 fEwn n— t2 A1100P 2%
10 Kivy 7 ¢ 16/ F40Y -
11 vy y-3t LGyy-% - J- W8
12 SRfTL - b t2 ATYUA -
13 SERMTL -} t2 ATYUA -
14 EYYR té SPHC EREEE (TEf»- %)
15 kyy té SPHC HENRER (ThiEfin- &)
16 kY ISk $12 SGD ERidnn o &
17 gy 4x 20 ATYUA -
18 Eg 12 &l -
19 RUEZE 12.3. t3.2 SGH EREEE (TEf»- %)
20 BiR t1.5 ATYUA -
21 UKL Y - t1.5 ATYLA -
22 U $12 ATYUA -
23 ZED) t1.5 A6063S. EPDM -
24 Bt R b M10x 75 4.618% ERIEHD - &
25 ¥Ry M5x 10 ATYUA -
26 0 M4x 10 ATYLA -
27 b AR M5x 10 ATYUA -
28 " M4x 10 ATYUA -
29 2INLT 316 PVC -
30 F7A by - H52 VIS4 NHAG -
31| PoVifHxvv 7 t1.0 PVC -

) BRMRISROLS. FELEBTHILNHVET,




